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D7z (B)=2—URMN PN 820.00
2B L o0 FLIRE =55 5 (BK) kg 274.00
3| HFLE FLIR =575 5 (%) B 3.40
4| T HEZL FLIR =505 3 (B kg 950.00
5|H 0L (k) Hiil ik kg 97.00
6L FLIR =557 5 (1) kg 286.00
=~ FLIR =5 7 28 (BR) kg 320.00
8|72V B (BR) 7 Vv ez Kig /K pE kg 1,950.00
9| =—LH=R FLIR =55 7 28 (BR) kg 280.00

10| L HER—T D () z2—URMm N 1,080.00
L[EIZIENICACA (k) Hil 1k kg 338.00
12|5HUB () R\ & kg 1,170.00
13| ke H AR #8820 () 1 30.00
4IEH AL FLIR =57 5 (1) kg 570.00
15| A& (B Al kg 128.00
16{125 FLIR =507 5 () kg 650.00
17|LLEYET- FLIR =55 75 5 (BR) kg 2,200.00
18] 3¢ (k) Hiil ik kg 108.00
19|~ FLIR =5 & (%) kg 85.00
20[Fg )X FLIR =557 5 () kg 192.00
21[LHA FLIR =5 & (%) kg 232.00
22|75 FLIR =557 5 () kg 320.00
23| KR FLIE =551 (BR) kg 79.00
2T T 4 FLIR =57 3 () kg 1,370.00
25|19 FLIR =55 & (%) kg 143.00
26| &% FLIR =55 3 () kg 340.00
27| EA4 (k) il ik kg 158.00
28|12 A< FLIR =55 5 () kg 2,200.00
295K FLIE =575 5 (BR) kg 254.00
30|70 1 FLIR =55 5 () kg 350.00
31{h~h FLIR =5 5 () kg 385.00
32[2=Fr~k FLIR =555 5 (1) kg 610.00
33/ FLIRE =55 5 (%) kg 316.00
34| HDHE FLIR =55 5 (1) kg 830.00
35| EHEE (B il Bk kg 778.00
36| DEE FLIR =55 7 28 (BR) kg 255.00
371VAZ FLIR = 557 5 (1) kg 620.00
(LT TFLLY (k) Hiil ik kg 380.00
9[LES (B Al kg 458.00
401770 2T FLIR =557 5 () kg 1,260.00
41[F K FLIR =50 5 (BF) kg 385.00
42|73 LR =5 7 8 (BR) kg 166.00
43|\ AT TV FLIR =50 5 (BF) kg 185.00
44 |XTA T — LR =5 75 58 (BR) kg 560.00
A5 | AT (F)2—UR M kg 880.00
46| 4FHH A b B —b (BK) kg 1,980.00
47| L A o B —b (k) kg 930.00
48[JE A~ —a b B —b (BK) kg 1,480.00
49| 7'V YT R RS T LR | 42.00
50(X1X7 41 —B (BF) 7o KAG K pE kg 1,080.00
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51[FSAA () 7R )\ & ¥ 210.00
S| Tex by PR T3 (BE) 45 640.00
53| IS AT T2 (RR) kg 1,090.00
541972 D hEX (Bk) 7 vvaa Kig/KpE 4% 370.00
55| FLIE =551 (BR) kg 280.00
56|13 H 22> (B)=2—URMN A 430.00
57~V FA4ADFE ) B kg 600.00
58| RV A H AR # B0h (BK) N 1,100.00
S| FEHFEA H AR &0 (BR) {E] 730.00
60|55 DY (B)=2—URMN N 375.00
61 HHEFUKIR (BK) Al kg 480.00
62|KHEH E Y)Y A b B —1 (BE) kg 930.00
63|F A FLIRE =5 5 (%) kg 260.00
64|/ R H A5 # B0 (BK) 1 23.00
65|45k p FLIE = 575 50 (BF) kg 160.00
66|23 LAZ A K (k) Al kg 380.00
67| = H AR/ 0 (BR) {E] 12.00
68| TRA =A T — H A2 B b (BK) S 450.00
697\ A (Bk) 7 voaa Rig/KiE kg 1,950.00
DTS =-Z40) () IR\ & kg 5,500.00
T1ERIZH D AEA () IR\ & kg 2,350.00
TolAvk G R A2 £ (BF) £ 450.00
3| FEBALAT —F ) — e GS) ZN 925.00
74| G AN () a—U8 1 52.00
75(=V % FLIR =557 5 () kg 380.00
76|0tea—r Lk Ty B R A IR | E 82.00
e FLIR =575 5 (%) kg 1,350.00
78|12 B — A (BR) & £k N 878.00
9[-0 H Y A b B —b (BK) kg 1,980.00
80| F~ LI D3 FLIR = 5575 5 (1) kg 2,600.00
81|k —~ FLIR =575 5 (%) kg 570.00
82| SL Az Az (BK) Hil kg 314.00
83| Tr X 272 FEWD (BF) & L& N 190.00
84|14 —7"IH BRUR £ T3 (BK) ZN 615.00
85| AL s 7 o r—% (B)a—Ua [ 570.00
86|/ Xy FakL i T H AR & (BR) N 580.00
87| i\ G FH 1 H AR H B 0h (BK) 13 630.00
889 D4E (BK) Al kg 77.00
89| &Iy . (B)=2—URM S 230.00
90| KT IKE H AR E /& (BR) ® 420.00
91|71 F (B)=2—URM S 720.00
92[TLzW H AR E &0 (BK) kg 2,660.00
93| —~ LR =257 R (BR) kg 570.00
94[/k 3z FLIR =50 5 (BF) kg 370.00
95[#R7ZHA () R\ kg 2,200.00
96| MIEHYTH H AR E &0 (BK) A 690.00
97457V Ty EEW R A LR | A 42.00
98|4EA4 FLIR =57 5 (1) kg 320.00
99| F /=T FLIR =5 & (%) kg 575.00
100|)—7 L% A FLIR =557 5 (1) kg 325.00
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101| X yf—= FLIR = 5575 SR (1) kg 650.00
102 EiEx 7V 2Lk H A H B 0h (BK) 1 55.00
103|4Fz— 20 b =k (BR) kg 5,800.00
104y ZER (B)=2—URM Git] 580.00
105|272 Ly E bbb A b FI—h(BR) kg 1,180.00
106| W N7 ——aa 7 () WA B (BR) 1 62.00
1074 H L E A H AR E & (BR) kg 500.00
108[~RFAHL —DFH PP (BR) i3 1,150.00
109|F /LRI —hamy/r A B (BR) 1l 47.00
110] /5 BRI BE 7 H AR H B dh (BK) 43 380.00
LB EE L) FEN H AR E &0 (BR) = 430.00
L2[AE NI Ko 50T L —r A ALY | B AR (BF) 13 450.00
13| —/LRX AT )L— FLIR =557 5 (1) kg 940.00
14| 4HAERDFE G 13 855.00
15| H 5B — (B —F) (BR) ‘& &5 E 340.00
116|KEe— AN v 7 v+ 7 H b B —b (k) kg 1,380.00
17|26 5T (F)2—UR M N 1,760.00
118 H L 774 (H)=2—URMH 18 800.00
119]1H9°< (Bk) 7 voaa Rig/KiE kg 750.00
120[FERLIC AN R Ly H ARSI £ (BR) A 580.00
121 2ex AR (k) Hiil ik kg 423.00
122| IR S55Z0F9 () =2—URM ] 560.00
123|5 e a AT —F b E R — b (BK) e 62.00
124|FCF e —F =Ry (BK) & L& ZN 700.00
125[7 1 —F = (S 7 A~ —) (BR) & £ 03 610.00
126|877 EuT ol (Bk) ‘& L& hh P 800.00
127l A () IR )\& kg 1,175.00
128K m— AR A vk b B —b (k) B 115.00
129|737 T FLACE} ()2 —U R 1l 76.00
130| 7 v 7 N Fryay by a—A (— M) Bl s AL S 2T {E] 72.00
131| 7 ax Ty 7k E ) " 800.00
132[7 v —F = (fF) (BR) '8 A N 610.00
133| R R h AT FLIR =575 5 (%) kg 535.00
134|2—b— g LA R (F)za—URMm {E] 76.00
135| ULy s H AR5 H B0 () N 630.00
136|/ Bk Ko7 A H AR & (BR) 1 50.00
137\ X A A E)E BLAT B i T3 (BK) N 630.00
138 ER T & KT H AR E & (BR) 13 970.00
139|8E b RNAT—F b B —b (k) B 105.00
140|783 — K= () 2—URMW g 440.00
H41|IREDT X TAADFH HEACES) S 1,300.00
142|88E R 2Ly (BR) ‘& L& N 745.00
143|H9F 951 KE FLIR =557 SR (BR) kg 356.00
144|#RTp B () 7R )\ & kg 4,000.00
145|$R e OFh1-EAMUEB (A) IR )\ & kg 4,300.00
146 KD I ps = (1K) ZN 780.00
14T I TRARA > TR ATV — I (BK) & L= 1 240.00
148| 5 UBRHkIE A () R )\E kg 1,350.00
149|% CBLEKIEB () 7R )\ & kg 1,350.00
150 H ke (B)2—URM I 340.00
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151{C g (k) il Bk kg 178.00
152| A—2 A (k) Hiil ik kg 198.00
153 | LLFLIE Rk PP (BR) {E] 73.00
154|F A7 (B)=2—URM 1 168.00
155|2—ZNLBATA A B T3 (BK) kg 1,250.00
156 |5 BN A K BETE H AR H B 0h (k) N 410.00
157|HOSO)—I—KL w7 (k) & -2 b ZN 750.00
158|¢5  E1-J5E I P = (1K) N 380.00
159]2E L 1)kt (F)z2—URMm £ 380.00
160|/NZE R (B)=2—URMN N 130.00
161|X>FE (BK) Al kg 458.00
162| 7V —2 T AT H A (k) Hiil ik kg 1,350.00
163 | 6 HE L (— ) Bl = AL S 2 1 93.00
164|F~h 2 —L—1F (B)=2—URM 1 180.00
165|LE Rt (F)a—UR M N 240.00
166|EAHFHATAAF —X (— ) B oL s = ALR S5 2P e 42.00
167/ ME DL SHT& (F)2—UR M N 132.00
168U/ INEEE H A2 B b (BK) e 600.00
1699 E AL —T L —2 (B) ‘& L& N 630.00
L70|4H\NO UES K () =2—URM 18 960.00
L7175kt (B)2—UR M N 395.00
172|777 AR =V H ARSI £ (BR) 1 550.00
173|530 5 D AA (B)2—UR MW N 1,210.00
174|72—b—PV—3Iv 72D F# PEACS) 4% 1,800.00
175 RO LI H AR B0 (BK) A 610.00
176 & H AR SRR £ (BR) kg 92.00
177l —7> H AR/ L (BR) kg 710.00
178/ NS A — H AR B0 (BR) & 20.00
17972 EH 93 Mk (B)=2—URMN N 19.00
18072 b Dl e —  A—7 (k) & A ALg = T {E] 105.00
181|720 NI A LA A—T (Bk) Ea A LR = 5T 1l 105.00
182/ B FH A EL H AR ZE &0 (BR) kg 580.00
183[CHHHEEY — (F)za—U M 1 168.00
184 b LMNIE B DEDE (k) & A AL = T {E] 105.00
185 | BMT=HD 0B AT (k) & A AL = T 1 105.00
186|CHoHNT T A (k) & A ALg = E T {E] 105.00
187|737 213 A (B)=2—URMN 1 180.00
1887 /LY H—R 7 g—H— (BR) B A LR 3T 1 125.00
189 B A Lo A8 (k) Ea A FLIR s ST 1 105.00
190[fiE LB D& F (k) B A FLIR = SEPT 1 125.00
191|3BEBFEDT T a— (k) & A AL = T 1 125.00
1924 &pex (k) & A ALIg = T 1l 125.00
193|4FEL o B —1 (BK) kg 8,800.00
194 | It L P P OB (F)a—UR M N 368.00
195| K 3— (B)=2—URMH, 1l 185.00
196|JE 721 2w PR T3 (BE) ZN 241.00
197 S &= AESE S 13 A (BR) B A FLIR = 3T 1 176.00




